
SAP ABAP table T5S6C {OPIS Scale Detail - SE}

T5S6C

MANDT [CLNT (3)]

SUBTY [CHAR (4)]

VSCOV [CHAR (1)]

VSCAL [CHAR (4)]

VSCEE [CHAR (2)]

ENDDA [DATS (8)]

T000

MANDT [CLNT (3)] T5S6C-MANDT = T000-MANDT 0..N

1

T591A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 T5S6C-SUBTY = T591A-SUBTY 
0..N

1

T5S6A

MANDT [CLNT (3)]

SUBTY [CHAR (4)]

VSCOV [CHAR (1)]

 T5S6C-VSCOV = T5S6A-VSCOV 

0..N

1

T5S6B

MANDT [CLNT (3)]

SUBTY [CHAR (4)]

VSCOV [CHAR (1)]

VSCAL [CHAR (4)]

 T5S6C-VSCAL = T5S6B-VSCAL 

0..N

1


